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JEE MAINS PATTERN 

Mathematics : LIMIT 

 

Practice Paper – 01  

1. 
k

x 0

1 x 1
Lim

x

 
 (K is a positive integer) 

 (A) K  (B) – K (C) 1/K (D) -1/K 

2. 
2 2

xx 0

1 x 1 x x
lim

3 1

   


= 

 (A) log9  (B) 
1

log9
 (C) log3 (D) 

1

log3
 

3. 
 

x sin x

x 0

e e
lim

2 x sin x




= 

 (A) -1/2 (B) 1/2 (C) 1 (D) 3/2 

4. 
3

x 0

1 cos x
lim

xsin 2x


= 

 (A) 1/2 (B) 3/2 (C) 3/4    (D) 1/4 

5. 
x

6

3sin x 3 cos x
lim

6x





 
 

 (A) 3  (B) 
1

3
 (C) 3  (D) 

1

3
  

6. 
3

x
2

cot x cos x
lim

x
2






 
 

 

= 

 (A) 
1

2
  (B) 

1

2
 (C) 2 (D) -2 
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7. 
x 0

sec4x sec2x
lim

sec3x secx





 

 (A) 3/2 (B) 2/3 (C) 1/3 (D) 3/4 

8. 

5 5

8 8

1 1x a
3 3

x a
lim

x a







 

 (A) 

7

24
15

a
8

 (B) 

7

24
15

a
4

 (C) 

7

24
15

a
8

  (D) 

7

24
15

a
4



 

9. 
2

2x 2

7x 11x 6
lim

3x x 10

 


 
 

 (A) 17/11 (B) 11/17 (C) 17/14 (D) -17/11 

10. 
3

x 0

4 x 8 3x
lim

x

  
= 

 (A) –1/2 (B) 1/2 (C) -3 (D) 0 

11. 
2x 0

secax secbx
lim

x

 
 

 
 

 (A) 
2 2a b

2


 (B) 

2 2b a

2


 (C) 0 (D) 1 

12. 
x 0

sin xsin x sin x
3 3

lim
x

    
    

    = 

 (A) ¾ (B) ¼ (C) 4/3 (D) 0 

13. 
 x 0

1 cos x
lim

x log 1 x




= 

 (A) 1 (B) 0 (C) -1 (D) 1/2 

14. 
2x

x 0

e 1
lim

3x


  

 (A)  2/3 (B) 6 (C) 3/2 (D) 1/6 

15. 
x

xx 0

a 1
lim

b 1





 

 (A) blog a  (B) alog b  (C) elog ab  (D) e

a
log

b
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16. 
  n

1 1 1
lim ....

1.3 3.5 2n 1 2n 1

 
       

 

 (A) 1 (B) ½ (C) 1/3 (D) 1/4 

17. If 

2x
2

2x
lim 1 e

x x

  
   

 
 then  

 (A) 1, 2      (B) 2, 1      

 (C) 1,  any real constant      (D) 1     

18. 
n 1 n 1

n nn

2.3 3.5
lim

2.3 3.5

 







 

 (A) 5 (B) 1/5 (C) -5 (D) 0 

19. 

1
x x x x x

x 0

1 2 3 .... n
lim

n

    
  

 
 

 (A)  
n

n!  (B)  
1/n

n!  (C) n! (D) In n! 

20. If [x] denotes the greatest integer less than or equal to x then 
2n

[x] [2x] ........ [nx]
lim

n

  
  

 (A) x/2 (B) x/3 (C) x (D) 0 

21. Let f : R R  be a positive increasing function with 
 
 x

f 3x
lim 1,

f x
  then 

 
 x

f 2x
lim

f x
  

 (A) 2/3 (B) 3/2 (C) 3 (D) 1 

22. 
3 3x 2

x 7 3 2x 3
lim

x 6 2 3x 5

  


  
 

 (A) 34/23 (B) 23/17 (C) 7/23 (D) 23/7 

23. 
 

  

22

3x 0
2

x y y x
lim

8xy 4x 8xy


 


 

 

 (A) 
1

4y
 (B) 

1

2
 (C) 

1

2 2
 (D) 

1

128y
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24. 
  

x 0

1 cos2x 3 cos x
lim

x tan 4x

 
  

 (A) –1/4 (B) 1/2 (C)  1 (D) 2 

25. 
3 3

5x 0

tan x sin x
lim

x


  

 (A) 5/2 (B) 3/2 (C) 3/5 (D) 2/5 

26. 
 

2x

2 cos x 1
lim

x

 



  

 (A) 0 (B) 1/4 (C)1/2 (D) 2 

27. 
 

3
x

2x 0

e

4 1
lim

x x
sin log 1

4 3






  
  

   

 

 (A)  
3

elog 4  (B) elog 4  (C)  
3

e12 log 4  (D)  
3

e5 log 4  

28. 

cosecx

x 0

1 tan x
lim

1 sin x

 
 

 
= 

 (A) 
1

e
 (B) e  (C) 

2e  (D) 1 

29. 

x 4

x

x 6
lim

x 1





 
 

 
 

 (A) 
4e  (B) 

6e  (C) 
5e  (D) e  

30. 
 

sin x

2
x

2

1 sin x
lim

cos x



  

 (A) 2 (B) 1 (C) 1/2 (D)1/4 

 

 


